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Task Sheet 5

5a)The two number sentences below belong to
a fact family.

4+3=7
7-4=3

Circle the following pairs of number
sentences which belong to the same fact family.

(Hint: there may be more than one.)
D 8+3=11

11-8=3
i 2+7=9

9-1=8
i 7+8=15

15-8=7
V)9 +5=

6+ 7/ =

b) Complete the following skip counting chart by filling in the
missing humbers.

/7 | 9 13 19 | 21 27

c) Look at the following number sentence.
36-18=9+

Which number should be placed in the box to complete the
number sentence correctly?

Answer:
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b)

Drill Sheet 2

This is part of the hundreds chart with some numbers missing.

27 | 28
39
O 90

57 59
Which number belongs in the circle?
) 29 i 38 iii) 48 iv) 60
Which number is missing fro rn?
12,15, 21,24
18 i 20 V) 17
Which eq ow is correct?
D6+10=6 +o+0 iN6+10=6+5+10
i6+10=6+6+5 V)6+10=6+5+5
Circle the odd numbers from the list below.

9 8 10 11 3 15

Circle the even numbers from the list below.

/ 4 9 20 12 1
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Input-Output Table, Sequencing

a) This is an input-output table. An input-output
table follows certain rules.

Input Output

b) Justin goes for a walk. He starts at t
squares up and squares

Use the above grid to help you describe how Justin would
walk home.
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